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Gh-NMid-lLesson 22

1. Solve for the unknown. Rewrite each phrase as a multiplication sentence. Circle the scaling factor, and
put a box around the factor naming the number of meters.

1 . 1
a. sas long as 8 meters = meters b. Btimesaslongas 5 meter=_ 4  meters

x—i—m:«%m

2 times 1 half is equal to 1.
So 8 times 1 half (or 8 copies
of 1 half} is equaito 4,

Bmi=—4m

Half of 8 is 4, so
1 half of 8 meters
is 4 meters,

2. Draw a tape diagram to model each situation in Problem 1, and describe what happened to the number
of meters when it was multiplied by the scaling factor.

2 8m b. 4 m

. 3, m Fdraw a unit of% m.
This tape shows a whole A _ .
L Then | made 8 copies of
of 8 meters. | partition it _ 1
into 2 equal units to it to show 8 X - m,
make halves. Half of 8 m which is equal to 4 m.

is 4 m.

. i,
in port (&), the scoling foctor 515 {ess than 1, so the number of meters decregses,

in part {b), the scaling foctor B is greoter than 1, so the number of meters incregses.

EU REM Lesson 22: Compare the size of the product to the size of the factors. 3=

MATH

©2015 Great Minds. eurska-math.org
G5-M1-HWH-1.3.0-07.2015




3. Look at the inequalities in each box. Choose a single fraction to write in all three blanks that would make
all three number sentences true. Explain how you know.

a. 34 3 4 747
ZXE>Z 2X5>2 EX£>E
Any froction gregter than 1 wilf work. ) .
s . Each of these inequalities shows that
Multiplying by o foctor greater thon i ;
s the expression on the left is greater
1, like > wilf make the product larger than the value on the right.
than the first foctor shown, Therefore, | need to think of a scaling
factor that is greater than 1, like g'.
4
b NP 2x 1 <2 Ixtal
473 " a 3 53 8
Any fraction iess than 1 will work.
Muitiplying by o factor less than 1, Each of these inegualities shows that
Hees »-33?, will make the product smofier the expression on the left is less than
than the first factor shown. the value on the right. Therefore, |

need to think of a scaling factor that is
less than 1, like %

4. A company uses a sketch to plan an advertisement oh the side of a building. The lettering on the sketch is

3
" inch tall. In the actual advertisement, the lefters must be 20 times as tall. How tall will the letters be on

the actual advertisernent?

2
EQXE

-

__ 26%3 The letters on the sketch have. been scaled
6; down to fit on the page; therefore, the letters
= : on the actual advertiseriient will be larger. In
=15 order to find out how: large the actual letters
will be, [ multiply 20 by % inch.
The letiers will be 15 inches tofl. \ //
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